
Geometry: 
SDHCAL only 
Si-W ECAL + SDHCAL 

ECAL calibration coefficients 
48.16 for first 20 layers 
96.32 for later 10 layers 

HCAL calibration 
set energy of each hit as a constant, total energy proportional to the 
hit number -> digital mode 

Longitudinal thickness: 24 X0 
Crystal ECAL + SDHCAL 

Longitudinal thickness: 24 X0 
ECAL calibration coefficient = 1 
HCAL calibration: as above
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Energy [GeV]
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+πCEPCV4, 
+πSDHCAL, 

 6.30%⊕ 
E

59.20%SDHCAL 

L
AHCAL analog mode, K

L
AHCAL digital mode, K

 4.90%⊕ 
E

43.20%AHCAL 

HCAL Resolution



https://indico.ihep.ac.cn/event/11444/session/8/contribution/134/material/slides/0.pdf
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